2021/03/28

1R
RESFI-4t
41200

|l |
C

2021/03/28
il

2R
B
41800

|l |
A

2021/03/28
L]

3R
KT
41200

|l |
C

2021/03/28

4R
FEERBH
42880

| ELE |
C

2021/03/28
il

5R
KT
21800

A10
LigELE |
A+
Yviavia
9.8

2021/03/28

6R
197 R*
41200

| AL |
A+

TURMIE, ChETOMATHEELE DD D/ - BYET A, BERTRTIAIELTVETS,
HHMOTOITOITEARDEAESARMMNENTT,

NG R I EI A RS £ | EBANEBAEBAVMNA|EEABF FE (8B |8l &5 TAE |HE BE E3 Hi5
A A== £3 14] 14| 15| 15| t1i[amEKX 510 | 868 205| 4620 113.1| 7473 |[EmEE [FLmE EAIEE)
NEDZed k3 0] 10 7 7 6|EmHAR  [530 | 405| 96| 827 234 1567 |EEEHA [TURFL— LY AR
3[Ea—T47NTA |3 [INa 3 3 3|2 Mk [510 42| 19] 191 100[ 263 [mEmE% SA~AB A~
4[Zz3=2vd £3 7 6 6 6 5[AMEmH 540 | 317 56| 724 230 1443 %= HAEL—Zh—2 #HEI7—L4
5[ —Luk £3 16] 16] 16] 16| 14[#ELmA [510 | 1179 356 7596 | 180.4 | 10580 |XMER— |mmEE N
6| ¥YT="ShF £3 13 13 10| 12| 13[xm®m®E 540 | 695| 165 2793 754 10577 |EMM# HE SRS
7[2AI5R k3 4 4 4 4 4| B 54.0 85| 21| 305[ 134 458 [MEfRIL  |#Ish #HET7F—L
8[/ 77 80— k3 3 1|%EEE  [540 45| 18] 168 76 237 |RIRE  |[#EWAS RO%Y
® 9 HYFTINTY—TFT |43 1 1 1 1 3[#mE  [540 2.7 1.6 15.8 4.9 342 KB [FEHY s
® [ 10[EvhIHIL k3 5 5 5 5 7[kwEE® 530 | 118 25| 513 196 1713 [#aBR [5—7-ZK—F F T
"[F2/HRES 3y t3 6 7 8 8 o[®tiRR  [540 | 27.8 78 | 1445 396 | 4022 [wnE%k [dLEIEA SR )
12[Ro =3 £3 12 o 14| 13[ 15[m@EN 510 | 673 ] 04| 3794 [ 02.3[ 10982 [MatE  |#E= ERRE—
@[ 1B[¥FOILTAR t3 15| 15] 13| 14| 16|#R—# [540 | 971 [ 334 | 369.0 99.8 | 1390.8 |MERME [WAEE #1415
14[E3EIEEE £3 9 8| 11 10| 10|®aEEH 540 | 39.0 86| 2810 56.7 | 610.6 |Eff0%E  |@EAmESL BRAESL
15[ R AR =F 14— £3 1] 12] 12| 11| 12]mmiwE 540 | 412 130 2858 576 10156 [MFNE [Jr—AFL—IF HEBRE
16[¥ET 7 £3 s 11 9 9 8[dAimE 540 | 322 107 1797 | 41.1| 3784 |tz [KEMCF NG
JRiE | EE | (RE | SE|ER HE BF E |EB |HE S TAE |HE BE kS %5
[IPAVIN=pZ7 S 3 BHBE  [560 93| 24| 246[ 11 468 |[=EEE  |=—5 S$hIhIF—L
2[H4 LTSV |43 ] 11| 15[ 14| 12[AmER 560 | 252 65| 2980 625| 3806 |AkER |4 ST
3[T—J4—T—LF |43 8 12| 10| 11| 11|msmEm (560 | 132 85| 1206 414| 1852 [kBEE |HHEE HFHR—
(EDDEDS ey B 25 1 3[itHE_ [56.0 76 21| 222 80 | 496 [HRML | KER— FAFUANIST
5|TILAS—/ 3 12[ 1o 14] 15 o[mm®t 540 | 308 56| 2967 | 749 1284 [MHEE [WO#A FERD
6[CTybtya— 3 13 14 1] 12| 13[mLmE 560 | 449 127 1412 469 | 3814 |[mEmELE |HiimE AR
7 FIRF)T t3 15| 13 12[ 10[ 15|mERN 510 | 508 | 04| 1532 39.5| 683.9 [/MaME | ki A
8[/—TILLTuk |43 4 6 8 5| R 54.0 94| 21| 460 144 815 [ KBERE |&AmE e
A ® [ 9[FRRRT4—T +3 9 9 8 7| 10|x#E®mt  [560 | 142 45| 504 136 1450 [molsl |5%® KT~
A G | 10|HLT i3 10 7 5 3 6 [RiEE 55.0 144 4.2 345 10.2 86.1 |HeiERE  [JUD5-T7—L IVI5IT—L
DT I4UA 3 16] 16] 13| 13|  14|mHkfEs 510 | 752 | 156 | 2417 525 | 4755 |MEE— [/—RELX J—RELZX
A 12| T4—FTF54> 3 7 8 7 6 7]#48A% 560 | 125 4.3 49.8 13.3 96.4 [18iR#R AR EAHKIE
@[ 13[go=iyT 3 14] 15[ 16] 16| 16|XEE#m 560 | 480 133 | 3115 893 | 12767 [MEBEN [wEH FAAAT7—L
14|34 EA=—~)L 3 1 5 4 4 4|BLRE  [560 38| 35| 247[ 103 537 [bESM |momE AU T7—L
15[Cx5E—A— 3 5 4 1 1|EFRBE [550 96| 31| 204 8.4 365 [@mAE e SRS
16[V =255 £3 6 6 9 9 g[mNmie 540 | 102] 35| 509] 261 988 [FEHA [®EHA—AL—oY HET7—L
NG ET I S A BB EBAEBA A SENBF (BB |EE S PRGN T BE ES %5
17940 XHaR 3 1 5 7 7 5[%R—# 560 35 41| 421 13.3 943 [@RER  |51A L—Rh—R HEE RS
D 2[¥w=T042FA |43 12 1| 11| 11| 11[®mmF 540 | 580 | 153 | 196.2 | 464 | 354.2 [FEmE |t3E i E e K
3[75A7 £3 8 8 9 9 NEEE 540 | 284 112 899 274 1704 [XBE— [&&®i Bk
A FY5o — 3 15| 12[ 10[ 10| 12[EE®E 550 | 79.4| 153 | 1674 | 455| 3837 |RmEZ |emma A(ET
5|77Lvi D i3 16] 16{ 15| 16| 14|mEk  [530 | 1118 | 603 | 4189 | 118.6 [ 941.0 [femkEss |FAEk R
6[Z)La—2 t3 T 10| 12| 12| to[miAnE 540 | 487 | 144 2413 | 605 | 3203 |[BEAE |MEIL e
pESF I DEY:] £3 9 9 8 8 o[ktEmth 540 | 343 143 749 238 2040 [#k= R R FrUEAVXT7—L
8|24 /ZRFL—F 3 1o 13 13| 13[ 13[xmm® [s60 | 419 155 2712 613 5583 [Rlfs [easrfA EZEDT)
® [ 9[pvT/tXxtY 3 5 6 3[Am#Ex_ [560 | 118| 43| 205 9.0 558 [HE#M |HHEt (2]
10[F—=7F>=3 t3 13 15| 14| t14] 15[@WLmA 510 | 592 377 | 2907 | 870 9643 |mEkiE |mwLooF ~—7 %8
A PS4 £3 6 4 6 4 7[mmEEt 520 | 119 37| 379 108 1174 [h@%z [Z@EBES J—¥77—L
12[hV/ Yo Fay 3 1 1 1|=mEm [560 44 24 136 4.7 239 [EHE=  [BOAKE BLEYR
@ | 13[RZAINNS4F £3 7 7 5 6 6[KE#HEH (540 | 187 71| 326 110 108.1 [MEH [MEHE— L&
14[ARETAT =Y i3 3 3 3 5 4]%mAm 560 52 25 24.2 10.9 574 |mgEtiE  [EvTLyRI7—L4 EvTLyFI7—L
15[FAa—X £3 14 14] 16 15[ 16|mEN 510 | 774 349 | 667.3 [ 102.6 | 2103.1 [KAEMK [3RET2a—T7—L aREGa—TI7—h
16[T5F—F 13 4 1 4 3 MBS [530 67] t11] 268 9.7 340 [BF#H [dHEE N T—5B
NG ET I S A (BB |EE S5 PRGN T BE Bx %5
{ tLyEY A4 60.0 36| 29[ 294 8.4 830 [MRMEE |®EHA—IL— vy J—¥77—L
2[FLAR—5 8 570 | 427] 54| 1155] 203 [ 3086 [KB#E |@EfE BERSVE
3[RAT4YxA 1 60.0 (A K 9.3 4.1 137 [#8BR  [E8H-TY—F—Z-a=F [ IEHKS
4T TR — 5[# 58.0 27.2 3.0 46.9 14.6 181.6 |KRMIB—  [/LIVFA—HS5TLYRL-[BERRYE
5 5[FE/aTY 3 600 | 140 29[ 281 5.8 882 [REZE |[#EHX REKS
6[ZZXHh1—2R 9 5860 | 294 107 1132| 225 3624 |ma% KFER et
@ NIIERTF—D 4t 590 | 12.9 62 407 139 [ 101.3 [&f# IR ki
[V IAUFHILES 6|= 600 | 104 41] 363 87| 1820 [fEEANr |HH BEKE
9[HU/NTFZRT NG |47 1 1 1 1 NES 600 | 484 | 154 | 1258 | 241 | 5069 [KME— |®AMH B
10[k—25v — t5 7 5860 | 276| 126| 835] 231[ 3063 [MafE |FE#HY Ja—)—J7—L
RER[EH [0 [RE[RE[BS 3 iiﬁ)\-’ BF & [Bp (B [en  [J4F [s2 B2 BE
[¢) Ho4—vZxboy £3 1 1 3 3| A= 54.0 4.1 24 216 10.1 52.7 |@iRFOEE [HTF—L—ry
PAESJEIN £3 14] 13[ 13| 18] 13[dAHmE 540 | 375 84| 1544 431 5113 [HEME |[NHES
3[7ZL=waRAS £3 12 8 11| 11] tolmm&mt 520 | 260 38| 1160 31.1| 2102 [MHEE [3vrIvsL—sy
4T YFRR B — 3 15| 15| 15| 15| 14[#WZE 560 | 636 138 | 4104 630 | 7388 |[IEfma |EmEA
5074 T4—J7 £3 7 1 12[ 12 gtk 510 | 112 24| 1210 313 1282 |k BILBE
6[CaTyb/S—L |43 3 5 5 5 HEEED 540 76| 35| 367 131 68.4 |FHAL |4—7-ZFK—t
) 7|77Ea5A/ 57 |43 [WNNa] 4] 4] 4] i[EE®E [550 71| 34| 349 116 328 [mEiE—  |KHHS R
8[/N—F)—TF £3 13 16| 14 14| 16[mER 510 | 360 | 166 | 1782 | 51.8 | 1351.3 [ANR H5TLYEDST 5247 |[EvTLuRT7—L
9[5Sy T —5F— 3 10 7 o] 10| tofmmm 560 | 202 | 38| 541] 294 162.1 [MEfih |=mES HET7—L
A 10[>a7—97U7 £3 6 6 3 1 4|MRES (540 | 110 37| 266 9.4 62.5 |mig FAFLAR5T FATLARGST
HLoryt 13 8 9 7 6 6|=@2/m  [560 125 44 455 15.4 988 |[EAEX [/NRUTF4—45TLyFL-[MAREZYE
12[F53F7T494F  [#3 9] 10 8 9 ol#iliis: 540 | 155| 45| 532 198 1358 |Eik® GIL—o5 EBHTF—L
@ | 13[FURRTI—IL £3 16] 14| 16] 16| (5[A#ETt [540 | 742 | 134 | 9360 | 97.7 | 13130 |[mHMmE |mEIr—L HET7—L
14[Evh L — £3 5[ 11 6 7 7[%mxs 540 | 103 48| 437 154 1153 [BWER [H#5TLYFS5T 5747 [EvTLuRIr—L
£3 4 3 MR 540 | 102 31| 265 9.9 48.3 [WkME  |EvTLuKT7—L By LyFo7—L
A 13 1] 12 10 8] 11|x®im# (560 | 214 51 645] 196] 167.9 M THER=A—NT IR [MIBI7—L
B | EE | (BE(BE (B o [BBAEBAEBAMNA|SEABTF i SET T PR TS BE BE %5
D 1[a=F14¥ELE £3 o 12| 1| 12| 11|@#ima%s [s40 | 202 83| 1206 | 421 | 2430 [#8RE FE SR AR
{ 2[kHF39R— 3 16] 16] 16] 15| 13Tk  [560 | 1044 | 245 | 3754 | 67.1 | 290.6 [RAME |#lumEk FARIEER
3NN INEVY 3 15| 15| 14| 13 9| RER 530 | 44.7| 169 ] 1759 61.7 | 1820 |FEiK GET NEXT Sh\hTF—L
A AEI—NT4— 3 11 9 o 11| tofdtsfmaE  [seo | 296 | 68| 798| 37.7] 2736 [IEfmi |@®mAE K
5[ZU/FIINR 13 13 10| 15[ 14| ta[sm®E [se0 | 348 | 75| 2379 619 3673 [AMRA FEAMH )
6[=>/T)LY t3 10 1] 13] 10| is[memEst [s40 | 27.1 77| 1702 336 | 5219 [h%HeA |mLET 115
[UZIEFaAE 3 14 13[ 10 o to|mmfEs  [s30 | 307 89| 995[ 329 1952 [®BE— |NEER hE
A 8[/T7T41T5R £3 7 5 4 4 NEEE 540 | 140 30| 300[ 102 588 |[HEEE |EWAST B
® | 9AHFLTILR o 1 3_;13%% 56.0 42 5| ot ¥ |IMED M
10[7SF7/0av s |4 5 4 5 7 5|mERE 520 74 5] 33 # HEAHZ BEET
U9 —F2LoT o 4 6 3 6 3[HLxse 560 7.3 2 | 26 EBBLH T5UY0R
12|94V ALEY i 1 1 1A= 54.0 6.6 .0 16. TATAREIAY BR%E
@ 13[yoh—Fy—a |4 7 7 3 7[x®#EH  |560 | 174 54| 43 T @FH kLT 17 X | Stonchaven Steadings
14|FF24T—> iR 1 14] 1 16| 16[fhliws 540 | 334 | 13. 159.1 e TR
15|SAMLSA H 8 5 4|ERBIR (550 | 138 5. 37.8 EEES ZIB%E
16[F1I7—F— 13 el 1 8] s[AHAA [530 62 1. 647 | 263 873 |pEE=  |REh—R557 TSR




